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e FEPER S (Kg) | @E R[S Al | B E (Ke) | AfE I LA
KIRT= B3 220 1, 404 1,170 324 | &I 407 2, 484 1,223 540
BHET- T 1,085 1,566 1,197 555
IED T 132 864 741 648 | kK 202 1,782 1,457 756
KIKO B D = 1 1, 404 1,404 1,404 | 78R 6 2, 484 2,048 1,620
FIEO D O ERE 7 1,620 1, 620 1,620 |ERE 113 2,970 | 2,591 1, 560
DT Foi 0 3, 240 3, 240 3, 240
HZ W T 13 | 11,880 9, 836 8,100
HHOW W E 5 3, 240 3, 240 3,240 [T 75 9,180 3,931 3,132
=z Tl 0 1,405 1,405 1,405 |fmi 78 3,780 3, 604 2,700
21 e 28 | 43,200 | 33,621 | 21,600
RIREZ FoJiE 104 972 923 918
TESD i E 88 2, 808 1,592 1,134
HED JevEE 15 1, 404 1, 404 1,404 [JbifE 60 1,404 1,089 864
L C& R 55 1,512 1,203 864
RH i =] 8 2, 160 1,890 1,620
KXH
mE Fo 260 3, 240 1,895 612
Hd
I 77X
Ml =3 59 1, 297 999 470 | FLJE 16 1,728 1,617 1, 080
BIENAITH RN 280 3, 208 2, 287 1,944
=T B 205 2,160 1, 955 1,782
Wb L iR 408 486 293 162
OnZ
N2 T 123 432 370 324
HHT
=X ElF 690 605 430 346
SAE JeiE 20 95 95 95
J A0 ElF 44 4, 590 2,293 1,431
THDHWVN
N & 558 1, 404 1,004 594
E ) Koy 361 2,592 1,805 1,188
{AHESA B IR 181 4,536 3,902 2,873
WAEESA 5 7 5, 292 5, 292 5, 292
EbrEESA B 681 2,700 1,646 1,026
33 T 14| 3,780 | 3,724 | 3,024
Ihbb = 492 2,376 1,270 405
=-boB = 10 3, 240 3, 240 3, 240
FhNnok
Wi XD g 9 1,512 1,336 1,188
B < Koy 4 3, 564 3, 564 3,564 | Koy 124 4,536 3,911 3, 564
NAZTFn [IT)E] 4 405 405 405
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Sfn T4 3 H 29H filik (HLAf) : Kegd7= v
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fh4h FHPEH B & Kg)| Ml Wl ZE | EEEH B E Ke)| SE I LA
N Y VNN
ATz Z Jb s 14 3,672 3, 055 1,944
T
WIS
MR 2O 3D 266 4, 050 1,628 270
B E 2 5 32 1,620 1,579 1, 560
R
X VA JbE 30 356 349 346
BTV
BRI A E
MmO S
BEa— LA 71 i E 18 702 702 702
IR JE7E 30 1,296 1,033 842
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fh4h FHPEH B & Kg)| Ml Wl ZE | EEEH B E Ke)| SE I LA
H 0O S 98 2,376 2,237 1, 890
R E
Wb La+
7-3<V
Wb LHALT
5 %O R 30 1,620 1,620 1,620
LL®® B[RES 7 1, 152 1, 152 1, 152
RFPET 2D
Foned
BIAE
BxX b 344 1, 080 780 691
BT b 363 1,728 847 540
B’ JeiE 30 1,404 1,404 1,404
HET
B DT
BiEr
HRIZL A
WK+ B[ R23 417 | 2,916 | 2,077 1,728
T
EXAYRE B 240 2, 850 2,208 1, 980
1z bk
HoHAEE FnakiL 18 2,520 2,520 2,520
EEaab/ N A
PUNI)
=z
5>58%5
BEd 72 =
BEE T
[EESY i =] 21 803 770 728
BREAE
B ET Koy 28 1, 080 1, 080 1, 080




